19EE502 / POWER ELECTRONICS AND DRIVES
V SEM EEE

Unit 2: DC CONVERTERS



4. SINGLE PHASE SEMI CONVERTER (2 Pulse) I;iﬂ_}“
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(c) Waveforms
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Single-Phase Semiconverter (RL-load)

.2 +RI +E=/ 2V,sin

2dt_ ol

ol

2
S t-0 E
Y




Single-Phase Semiconverter (RL-load) |
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The single-phase semiconverter has an RL load of
L = 6.5mH, R =25 Ohm, and E = 10 V. The
Input voltage Is Vs = 120 V(rms) at 60 Hz.
Dé®rthmtoad current I at ot = 0 , and the load
current I 1 at - ot=oa=60°,
(b) the average thyristor current Ia
(c) the rms thyristor current Ir
(d)the rms output current lyms and

e) the average output current l4c




